& 5S(s, 8) hes on a semi-circle as shown.
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E — Equations of Straight Lines

Equations of lmes can come m many forms. Some of the torms are:
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(b) Find the equation of the lme that has gradient -3 and passes

through the pomt (2, -3).
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¢) Fnd the equation of the lme that passes theough (-2, -3) and (1. 4).
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Getting the equation from a eraph

Step 1- Identify yv-mtercept

Step 2- Identifv grachent
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More Examples:

(a) Fid the equation of the lme that passes through (-2, -1) and 15
parallel to 2x+ 3 =3 X \.J
e

?0; \;Phiﬂ‘ml'er(,epl’ form



(b) Give the equation of a lne that passes theough (1.3) and 15
perpendicular to x+ 8y =-32. X ‘j
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HW: Section 5.E.1 #1-3



